
                                              
 
 

 
 
    
 
 
 

. 
 

    
    
 
PA
 
 
 
 
 
IN
 
Se
pla
13
On
as
be

 
 
 For Technical Assistance, Call Moroso’s Tech Line at 

(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time For T
(203) 4

 
 

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

V i s i t  U s  A t  w w w . m o r o s o . c o m 
V

68842INST

 

Rev. A 
110211 

Rev.A 
110211

 
 
                    
       
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

                      
                      
 
PARTS LIST 
 
 FILL
 FILL
 THR
 
INSTALLATIO
 
Select a locat
plate as a tem
13/64” drill for
Once the hole
as shown in th
bend the tabs

 
  

                        BOLT-ON VALVE COVER FITTING 
                                           P/N 68842 
 
PARTS LIST 
 
 FILL CAP   LOCKING PLATE 
 FILL CAP O-RING  10-24 SCREWS (4) 
 THREADED FITTING O-RING FOR FITTING 
 
INSTALLATION 
 
Select a location for the fitting on a flat surface. Use the steel locking 
plate as a template for laying out the locations for the holes. Use a 
13/64” drill for the screws and a 1.250” hole saw for the center opening. 
Once the holes are made, de-burr and clean them. Assemble the fitting 
as shown in the illustration below. Once the fitting has been secured, 
bend the tabs of the locking plate up and over the bolt heads. 

 
 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time

For Tec
(203) 458 

 
MOROSO PERFORMANCE PRODUCTS, INC 

80 CARTER DR • GUILFORD, CT 06437 
Phone: (203) 453-6571 • Fax: (203) 453-6906 

 MO

Ph

V i  
Rev. A
110211

 
Rev. A 
110211 V i s i t  U s  A t  w w w . m o r o s o . c o m 68842INST
 

                                                                
          

                               
  
  
 
 
 
 
 
  
    
 
 

                      BOLT-ON VALVE COVER FITTING 
                                           P/N 68842 
 
PARTS LIST 
 
 FILL CAP   LOCKING PLATE 
 FILL CAP O-RING  10-24 SCREWS (4) 
 THREADED FITTING O-RING FOR FITTING 
 
INSTALLATION 
 
Select a location for the fitting on a flat surface. Use the steel locking 
plate as a template for laying out the locations for the holes. Use a 
13/64” drill for the screws and a 1.250” hole saw for the center opening
Once the holes are made, de-burr and clean them. Assemble the fitting
as shown in the illustration below. Once the fitting has been secured, 
bend the tabs of the locking plate up and over the bolt heads. 
 

 
 

                  BOLT-ON VALVE COVER FITTING 
                                       P/N 68842 

RTS LIST 

FILL CAP   LOCKING PLATE 
FILL CAP O-RING  10-24 SCREWS (4) 
THREADED FITTING O-RING FOR FITTING 

STALLATION 

lect a location for the fitting on a flat surface. Use the steel locking 
te as a template for laying out the locations for the holes. Use a 
/64” drill for the screws and a 1.250” hole saw for the center opening. 
ce the holes are made, de-burr and clean them. Assemble the fitting 
 shown in the illustration below. Once the fitting has been secured, 
nd the tabs of the locking plate up and over the bolt heads. 
 

 
 

echnical Assistance, Call Moroso’s Tech Line at 
58-0542, 458-0546 8:30am – 5:00pm Eastern Time

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906

 i s i t  U s  A t  w w w . m o r o s o . c o m 68842INST 

 
 

 

 

 

  BOLT-ON VALVE COVER FITTING 
                     P/N 68842 

 CAP   LOCKING PLATE 
 CAP O-RING  10-24 SCREWS (4) 
EADED FITTING O-RING FOR FITTING 

N 

ion for the fitting on a flat surface. Use the steel locking 
plate for laying out the locations for the holes. Use a 
 the screws and a 1.250” hole saw for the center opening. 
s are made, de-burr and clean them. Assemble the fitting 
e illustration below. Once the fitting has been secured, 

 of the locking plate up and over the bolt heads. 

hnical Assistance, Call Moroso’s Tech Line at 
-0542, 458-0546 8:30am – 5:00pm Eastern Time

ROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 
one: (203) 453-6571 • Fax: (203) 453-6906

s i t  U s  A t  w w w . m o r o s o . c o m 68842INST


